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20254 8A3H (H)
REwAY V) =257

ERE BT 6,563y EIRE KT DO 6,228y
JE AT K 4 YA OUT IN toran JIEfT K 4 A4 OUT IN Toral
1t K VER 2 =3 32 38 70 1 ¥ #iET (EEYEE2 36 36 72

2 P R ER R &1 35 42 77 2 AR EsE VER - =3 35 40 75

3 i=E H*E RLBRAKTE2 38 40 78

XY BEL +n HETES? 4 kK EE yradva—rvarrt 40 41 81
5 Il &"H (HCESE TSR 38 45 83

gl By o 6,228y  HEE LT 5,772y
JEfL K 4 PG FHE OUT IN torar IR K 4 M4 EHE OUT IN ToTaL
1 EH & w3 35 36 71 1 = PE fH2 35 39 74

2 W HIEH3 39 37 76 2 BIit U TEFHF3 38 38 76

3 mHe —#M OALEWAIF2 37 39 76 3 b o= FFEH1 35 42 77

4 [P AKX W1 37 41 78 4 fERE MATE A3 39 39 78

5 R BiE fEH 1 40 39 79 5 ffk Fifl =N HI K] 43 41 84

6 fEl BEK E5H 2 43 48 91 6 RH 7 Rl 41 43 84

7 fafE BEK E 52 48 49 97 7 PR OXE BB 41 43 84

8 N kA T3 45 53 98 8 Wikl EHEdl 40 45 85

9 it BE FEH3 46 41 87

R Hot HE3 10 W 752 44 43 87
11 HiH A% g | 50 42 92

12 =% L FEHEY1 45 57 102

INFRRTRAE B o 4916y /INFEREFE KT 4,916y
JE AT K 4 YA OUT IN toran JIEf K 4 M4 EE S OUT IN ToTaL
1 JEH Hn %A /N6 33 38 71 1 Hil EH B /NS 34 37 71

2 i WK HsE/N 39 36 75 2 B R KNG 36 37 73

3 K KM fHIs2/\6 40 38 78 3 HHE ##E e aWANG 40 45 85

4 EER UK HHE/N6 39 41 80 4 I HH JI3 /N4 53 54 107

5 & OFEN A /NS 47 48 95 5  HEiE M B /NS 50 59 109

6 AR fEH=2/1\4 56 59 115 6 HERK B /N5 58 52 110



